H = 0l & AF &2 H M A
S2A: ALY
HM: NAWLHE(ZELXINL /NI L A
Gel: ARE XNy (&9 &)
SN -H2A () - MEAY - BES Ol A o4 Ny Hns2
AL 23,764,579 23,431,579 333,000
[~ 353,000 20,000 333,000
Al 23,411,579 23,411,579 0
NN LHE (ZELXNAMNL /N ALZAl) 14,432,063 14,099,063 333,000
= 333,000 0 333,000
Al 14,099,063 14,099,063 0
ARD XSy 14,432,063 14,099,063 333,000
< 333,000 0 333,000
Al 14,099,063 14,099,063 0
272 NGHY THEXEAY 333,000 0 333,000
< 333,000 0 333,000
401 Al HI 2 2 CHH| 313,000 0 313,000
< 313,000 0 313,000
01 Al&H| 313,000 0 313,000
EANS LS ZESA[HALE T AIZ]
80,000,000 * 1Al 80,000 0 80,000
= 80,000 0 80,000
O SH3 2SS L2 BAM[MAMSEA
=32 30,000,0008 * 14l 30,000 30,000
< 30,000 30,000
O SH3 SHDIS 2T 2 FHH S AH0I&A
ERSEUNE=3 20,000,0002 * 14l 20,000 20,000
= 20,000 20,000
O A2t =/2] 35-14 A2 HHISAH[Of &
SEA M%] 30,000,0008 * 14l 30,000 30,000
= 30,000 30,000
O SZH H30IE SRS AHUALSE A
NE=2 30,000,0008 * 14l 30,000 30,000
< 30,000 30,000
O 28 HR0S o2 HERZAHMALEA
INE=3 18,000,0002 * 14l 18,000 18,000
< 18,000 18,000
O NS=S 88 FUEH (IR X[
=32 35,000,0008 * {14l 35,000 35,000
< 35,000 35,000
O NS o2 AEME Ao agEA
AZ] 10,000,0008 * 14l 10,000 10,000
< 10,000 10,000
O CIEES HPESEXN2Y U2 FHI BAH
OlASER AR 30,000,0002 * 14! 30,000 0 30,000
= 30,000 0 30,000
O A2E NISEH ZH[HASEA AIE]
30,000,0008 * 14l 30,000 0 30,000
= 30,000 0 30,000
402 QI XH= 0| ® 20,000 0 20,000
< 20,000 0 20,000
02 QIZIXFE AL E X (O A THL) 20,000 0 20,000
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SA-EH A (SA) - NRAE - BES Off ok 24 I E N Husz
O 4ctd A0S NSEX[Ca8EH
AE] 20,000,0008 * 14| 20,000 20,000
= 20,000 20,000




